(k‘\

a
CASTLECREEK"

Congratulations on your CASTLECREEK® purchase.

We're proud to help you furnish and enhance the place you call home. Whether
indoors or outside, CASTLECREEK® is the perfect choice for comfortable living at

an exceptional value.

Item #712754 CASTLECREEK® 47" Fire Pit with BBQ Grate

For assistance with your product, please contact the Sportsman’s Guide customer service at
1-800-888-3006 Mon.-Fri. 7:00am to 9:00pm, Sat.-Sun. 8:00am to 8:00pm CST or go to
sportsmansguide.com/customerservice/contactus

SPORTSMAN’S
GUIDE

sportsmansguide.com 712754-CASTLECREEK® 47" Fire Pit with BBQ Grate 10f8



http://www.sportsmansguide.com/customerservice/contactus

WARNINGS

/\ WARNING: ALWAYS read and understand all warnings, cautions, installation and use instructions prior
to installing or using this product. Failure to follow all warnings, cautions and instructions may result in
fire or explosion, which could cause property damage, serious injury, or death.

/\ WARNING: Improper installation, adjustment, alteration, service or maintenance may result in property
damage, serious injury or death.

/\ WARNING: For outdoor use only. NEVER use in any building, garage, other enclosures or under any
structure. This fire pit is NOT for commercial use.

NEVER use under an overhead or near any unprotected combustible constructions. AVOID using near
or under overhanging trees and shrubs.
NEVER use this product in or on boats or recreational vehicles.

/\ WARNING: NEVER use this product for indoor heating. TOXIC carbon monoxide fumes can accumulate
and cause asphyxiation or death.

NEVER leave children or pets unattended near the product. Not intended for use by children. ALWAYS
use in accordance with all applicable local, state and national codes. Contact your local fire department
for details on outdoor burning.

ALWAYS exercise the same precautions you would with any open fire.

NEVER assemble or operate the fire pit under the influence of alcohol, prescription or non-prescription
drugs.
NEVER attempt to modify this product or subject it to an installation or use for which it was not
designed. Doing so may result in damage and/or serious injury.
NEVER allow other persons to install or use this product until they have read this manual and have
developed a thorough understanding of how the product works.
NEVER use this product until it is COMPLETELY assembled with all parts securely fastened and
tightened.
ALWAYS use this product on a hard, level, non-combustible surface such as concrete, rock or stone. An
asphalt or blacktop surface may not be acceptable for this purpose. NEVER use on wood surfaces.
Keep all electrical cords away from from the fire pit.
ALWAYS maintain proper distance from other structures keeping the area free of combustible
materials.
NEVER store or use gasoline or other flammable vapors or liquids in the vicinity of this product,
including automobiles, trucks, vans or recreational vehicles.
NEVER use this product in windy conditions.
Avoid breathing smoke from the fire and avoid getting it into your eyes.

A\ CAUTION: all surfaces of this fire pit are hot with in operation. To avoid burns, NEVER touch the fire pit
until it has completed cooled. NEVER touch ashes or coals to see if they are hot.

ALWAYS thoroughly inspect your product for signs of damage and creosote build up prior to each use,
installation or removal. NEVER use the product until any damaged parts have been properly replaced
and clean up is executed.

ALWAYS empty the fire pit before each use.

NEVER remove ashes or coals until they are completely extinguished.

NEVER move or store this product until ashes and coals are completely extinguished.

ALWAYS use heat-resistant gloves or hot pads when contacting handles. NEVER wear flammable or
loose clothing when operating this fire pit.

This fire pit is for use with dry, seasoned hardwood. It will burn hotter, more completely and create
less smoke. NEVER burn lump charcoal, manufactured logs, driftwood, trash, leaves, papers, cardboard,
plywood, painted or stained or pressure treated wood. Avoid using softwoods such as pine or cedar
that can throw sparks.

NEVER use gasoline, kerosene, diesel fuel, lighter fluid or any other accelerant to start or relight fire.
NEVER lean over this fire pit when lighting or in use. ALWAYS use long, sturdy fire pit tools when
adding or moving logs. NEVER place wood directly into bottom of the fire pit. Place wood only on the
center of the fire bowl.

NEVER place hot pit tools onto combustible surfaces such as but not limited to, grass, wood decks, or
furniture.

NEVER overload the fire pit. NEVER add additional firewood until the fire burns down. CAUTION: if any
portion of the fire pit is glowing red, it is overloaded.

The warnings, cautions, and instructions in this manual cannot cover all possible conditions or
situations that could occur. Exercise common sense and caution when using this product. Always be
aware of the environment and ensure that the product is used in a safe and responsible manner.

Save these instructions for future reference for anyone that is assembling or operating this product.

sportsmansguide.com 712754-CASTLECREEK® 47" Fire Pit with BBQ Grate 20f8



Parts and Hardware

Please check the contents of the packaging to ensure all parts are included.

Tools Required (Not Included)

Description Picture

Phillips Head Screwdriver @

Adjustable open end wrench

sportsmansguide.com 712754-CASTLECREEK® 47" Fire Pit with BBQ Grate

30f8




Parts List

Part # Description Picture Quantity
=

A Swing Handle 1

B Lift Handle i 1

C Cooking Grate 1

D L-Pin 1

E Table Panel 4

F Fire Bowl 1
G SupportRing Section = 4

H Leg 4

Hardware
Hardware # Description Picture Quantity

J M6 x 14 Bolt e 36

L M6 x 20 Bolt |z 8

M M6 Nut I 10
N Wing Bolt Tm 4

sportsmansguide.com

712754-CASTLECREEK® 47" Fire Pit with BBQ Grate

40of 8




Assembly Instructions

Step 1
Attach (4) legs (H) to fire bowl (F) with (12) M6 x 14 bolts (J)

Step 2
Insert one support ring section (G) into another and attach the support ring assembly to leg (H) with

(4) M6 x 14 bolts (J) as illustrated. Repeat the same procedure to install the other support ring
sections(G).

NOTE: Keep all bolts loose during the assembly of this step until all parts are installed into the correct
position.

sportsmansguide.com 712754-CASTLECREEK® 47" Fire Pit with BBQ Grate 50f8



Step 3
Secure (4) support ring sections (G) with (4) M6 x 14 bolt (J).

Step 4

Insert (2) the pins on table panels (E) into the fixed brackets on the fire bowl(F) as illustrated.Connect
table panels (E) with (8) M6 x 20 bolts (L) and (8) M6 nuts (M). Attach (4) wing nuts (N) to the fixed

brackets on the fire bowl (F) as illustrated.
NOTE: The hole on the table panel (E) should be placed right upon the pole on the fire bowl (F).

sportsmansguide.com 712754-CASTLECREEK® 47" Fire Pit with BBQ Grate 760066




Step 5
Attach the lift handle (B) to cooking grid (C) with (2) M6 x 14 bolts (J) as illustrated.Attach the swing

handle (A) to cooking grid (C) with (2) M6 x 14 (J) and (2) M6 nuts (M) as illustrated.

\ k"

Step 6

Insert the cooking grid (C) post into the table opening.

Insert L-pin (D) into the hole on the cooking grid securing the pole.

— — ‘ =

806f16

712754-CASTLECREEK® 47" Fire Pit with BBQ Grate

sportsmansguide.com



CARE AND MAINTENANCE
Lighting:
e Make sure there is only a small amount of ash in the bottom of the bowl.
e Place a layer of dry kindling or a natural fire-starter onto the center of the fire bowl.
¢ Place above that a layer of dry seasoned hardwood that is no more than 3/4 the length
of the bowl diameter.
e Use a match to light kindling.

Tending the Fire:

¢ You may need to shift and/or add logs for an ideal experience.

e NEVER place hot fire pit tools onto combustible surfaces such as grass, wood decks or
furniture.

¢ While using a long handled fire pit tool, shift coals and logs to allow additional airflow.

e NEVER add gasoline, kerosene, diesel fuel, lighter fluid or alcohol to relight or enhance
an existing fire.

¢ Wait until glowing coals have developed before adding any additional wood. If additional
wood is required, place wood on top of coals, careful not to shift ashes.

Extinguishing:
¢ Allow fire to burn itself out.
¢ NEVER use water to extinguish it is dangerous and can cause damage to the fire pit.

Inspecting:
¢ The fire pit should be inspected on a regular basis to ensure product safety and longer
product life.
¢ NEVER attempt to inspect this fire pit until the fire is COMPLETELY out and cool to the
touch.
e Check components for any signs of damage or rust. If damage is found DO NOT operate
the fire put until repairs are executed.

Cleaning:

¢ This fire pit should be cleaned on a regular basis for safer experiences and a longer
product life.

e NOTE: after repeated use, a slight discoloration of the finish may occur.

¢ NEVER attempt to clean this fire pit until the fire is COMPLETELY out and cool to the
touch.

e NEVER use oven cleaner or abrasive cleaners as they will damage this product. NEVER
clean any part of this fire pit in a self-cleaning oven as it may damage the finish.

e Wipe exterior surfaces with a mild dish-washing detergent or baking soda. For stubborn
surfaces use a citrus based degreaser and a nylon scrubbing brush. Rinse and clean with
water. Remove built-up creosote from components with a chimney cleaning product.

Storage:
o NEVER move or store this product until the fire is COMPLETELY out and cool to the
touch.
¢ Once the fire is out, coals are cold and fire pit is cool to the touch, remove ashes and
dispose of properly.
Store the fire pit in a dry location to prolong the life of the product.
e Store assembled product in a location away from children and pets.

SG02.20
sportsmansguide.com 712754-CASTLECREEK® 47" Fire Pit with BBQ Grate 80of8



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	Blank Page
	Blank Page



